— KA (XIIEYXYARY)

In[77]:= SetDirectory[

"/Users/takasu/home/BHRBIFRIDMTE/HER/FK 2 6 FE/H26 K¥F[PTi%7 /Generating
random numbers/rvs/DerivedData/rvs/Build/Products/Debug/ "]

ou77- /Users/takasu/home/|BHRBIEROMLE/EER/FH 2 6 FE /H26
AFBTa#h# /Generating random numbers/rvs/DerivedData/rvs/Build/Products/Debug

ini7e)= data = ReadList["uniform.out", Real];
len = Length[data]
maxdata = Max[data]

outf79)= 100 000
outsol= 0.999972

insi}= Histogram[data, {0, 1, 0.05}, "PDF"]
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ing2= mean = Apply[Plus, data] / len

outjg2)= 0.500874
ins3:= Apply[Plus, (data -mean) ~2] /len

outssl= 0.0831453

— KK ELEL (Mathematica)

ing4:= Random[ ]
outjg4l= 0.616362
inigs]= Table[Random[], {10}]

outgsl= {0.340182, 0.486816, 0.347294, 0.63905, 0.271129,
0.93767, 0.730877, 0.000725689, 0.535239, 0.407441}

ins6]= data = Table[Random[], {100000}];
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ins7)= Histogram[data, {0, 1, 0.05}, "PDF"]
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inss}= Random[Real, {1, 3}]
outjgsl= 2.37868
ingoi= Table[Random[Real, {1, 3}], {10}]

outjge)= {2.37721, 2.12515, 2.78299, 2.32511,
1.75352, 2.24504, 2.31317, 1.48853, 1.92003, 1.29328}

inoo]= data = Table[Random[Real, {1, 3}], {100000}];

inoi:= Histogram[data, 50, "PDF", PlotRange -» {{0, 5}, All}, AxesOrigin » {0, 0}]
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ine2:= data = ReadList["exp.out", Real];
len = Length[data]
maxdata = Max[data]

outjo3}= 100000

out94l= 9.84422
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ines)= Histogram[data, 50, "PDF"]
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Ino6:= mean = Apply[Plus, data] / len

outjosl= 0.996328
in97:= Apply[Plus, (data -mean) "“2] /len

B EELEL (Mathematica)

ineg):= data = Table[Random[], {100000}];
n[04= data2 = -Log[data] /0.5;

in[10s]:= Min[data2]
Max [data2]

out[105)= 0.0000111478
out[1o6)= 21.5001

in107:= ghist = Histogram[data2, 100, "PDF"]
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In[10}= g = Plot [gamma Exp[- gamma x] /. gamma -» 0.5,
{x, 0, 20}, PlotStyle » RGBColor[1l, 0, 0], PlotRange - All]
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in[111= Show[ghist, g]
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in112)= data = ReadList["gauss.out", Real];
len = Length[data]
maxdata = Max[data]

out[113)= 100000

out[114)= 4.58849

in(115)- Histogram[data, 50, "PDF"]
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n[116):= mean = Apply[Plus, data] / len
outj116)= 0.00179643
n[117;= Apply[Plus, (data -mean) “2] /len

IER P ELE (Mathematica)

inf118]= data = Table [Random[NormalDistribution[0, 1]], {100000}];

in[119:= Min[data]
Max[data]

out[119)= —4.33116
out[120)= 4.65559

in(i21]= ghist = Histogram[data, 50, "PDF"]
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n[i22)= gauss = Exp[-(x-m)~2/2/sd"2] /Sqrt[2Pi] /sd /. {m>0, sd > 1}
g = Plot[gauss, {x, -4, 4}, PlotStyle -» RGBColor[1l, O, 0], PlotRange - All]
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in[124)= Show[ghist, g]
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in[i27)= data = Table[Random[], {100000}];

n[128):= data2 = Sqrt[data];

n[29)= Min[data];
Max[data];

n[31= ghist = Histogram[data2, 50, "PDF"]
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nfs2)= g = Plot[2x, {x, O, 1}, PlotStyle » RGBColor[1l, 0, 0], PlotRange - All]
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in133= Show[ghist, g]
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